

Date: \_\_\_\_\_

Name

Saqain Manzoor

Roll No

29004

Class

EET (2nd smst)

Submitted to

Farhan Sir

Assignment No

(2)

①

## (Exercise 9.2)

Question ①

$$\frac{dy}{dx} = \frac{x^2}{y(1+x^3)}$$

$$y dy = \frac{x^2}{1+x^3} dx$$

$$y dy = \frac{1}{3} \int \frac{3x^2}{1+x^3} dx$$

$$\frac{y^2}{2} = \frac{1}{3} \ln(1+x^3) + c$$

$$\frac{3y^2}{2} = \ln(1+x^3) + 3c$$

$$3y^2 = \ln(1+x^3) + 3c$$

$$\frac{2}{3} 3y^2 = 2 \ln(1+x^3) + 6c$$

$$3y^2 + 2 \ln(1+x^3) + c$$

Question ②

$$\frac{dy}{dx} + y^2 \sin x = 0$$

$$\frac{dy}{dx} = -y^2 \sin x$$

$$\int \frac{dy}{y^2} = - \int \sin x dx$$

$$\frac{y^{-1}}{-1} = -(-\cos x) + c$$

$$\frac{-1}{y} = \cos x + c$$



Question ③

$$\frac{dy}{dx} = 1 + x + y^2 + xy^2$$

$$\frac{dy}{dx} = (1+x) + y^2(1+x)$$

$$\frac{dy}{dx} = (1+x)(1+y^2)$$

$$\int \frac{dy}{1+y^2} = \int (1+x) dx$$

$$\tan^{-1} y = x + \frac{x^2}{2} + C$$

$$2 \tan^{-1} y = 2x + x^2 + C$$

Question ④

$$(xy + 2x + y + 2) dx + (x^2 + 2x) dy = 0$$

$$[x(y+2) + (y+2)] dx + x(x+2) dy = 0$$

$$[(y+2)(x+1)] dx + x(x+2) dy = 0$$

$$\therefore \text{by } x(x+2)(y+2)$$

$$\frac{x+1}{x(x+2)} dx + \int \frac{dy}{y+2} = 0$$

$$\frac{1}{2} \int \frac{2x+2}{x^2+2x} dx + \int \frac{dy}{y+2} = 0$$

$$\ln x(y+2) = -\frac{1}{2} \ln x(x^2+2x) + \ln x$$

$$y+2 = \frac{e}{\sqrt{x^2+2x}}$$

### Question (5)

$$\frac{dy}{dx} = 2x^2 x \cdot y - x^2 y + xy - 2x \cdot 2$$

$$= 2x^3 - 2x - 2 + y - x^2 y + xy$$

$$= 2(x^2 - x - 1) - y(-1 + x^2 - x)$$

$$\frac{dy}{dx} = (x^2 - x - 1)(2 - y)$$

$$\int \frac{dy}{2-y} = \int (x^2 - x - 1) dx$$

$$-\int \frac{dy}{2-y} = \int (x^2 - x - 1) dx$$

$$-\ln|2-y| = \frac{x^3}{3} - \frac{x^2}{2} - x + c$$

$$-\ln|2-y| = \frac{2x^3 - 3x^2 - 6x + 6c}{6}$$

$$-6 \ln|2-y| = 2x^3 - 3x^2 - 6x + 6c$$

$$\ln|2-y| = (2x^3 - 3x^2 - 6x + 6c) \ln x$$

$$-6 \quad 2x^3 - 3x^2 - 6x + 6c$$

$$\ln x |2-y| = \ln x e$$

$$-6 \quad 2x^3 - 3x^2 - 6x$$

$$|2-y| = e \quad \dots e$$

$$|2-y|^{-6} = 2x^3 - 3x^2 - 6x$$

### Question (6)

$$\operatorname{cosec} x dx + \operatorname{sec} x dy = 0$$

$$\div \text{ by } \operatorname{cosec} x \operatorname{sec} x$$

$$\frac{1}{\operatorname{sec} x} dx + \frac{dy}{\operatorname{cosec} x} = 0$$

$$\int \cos x dx + \int \sin y dy = \int 0 dx$$

$$\sin x - \cos y = c$$



### Question ⑦

$$y(1+x)dx + x(1+y)dy = 0 \quad | \div \text{ by } xy$$

$$\left(\frac{1+x}{x}\right)dx + \left(\frac{1+y}{y}\right)dy = 0$$

$$\int \left(\frac{1}{x} + 1\right)dx + \int \left(\frac{1}{y} + 1\right)dy = \int 0 dx$$

$$\ln x + x \ln y + y$$

$$x + y + \ln(xy) = c$$

### Question ⑧

$$y\sqrt{1+x^2}dx + x\sqrt{1+y^2}dy = 0$$

$$\div \text{ by } xy$$

$$\int \frac{\sqrt{1+x^2}}{x} dx + \int \frac{\sqrt{1+y^2}}{y} dy = \int 0 dx$$

$$\text{put } \sqrt{1+x^2} = t \quad \text{put } \sqrt{1+y^2} = z$$

$$1+x^2 = t^2$$

$$1+y^2 = z^2$$

$$2x dx = 2t dt$$

$$2y dy = 2z dz$$

$$x dx = t dt$$

$$y dy = z dz$$

$$\int \frac{\sqrt{1+x^2}}{x^2} x dx + \int \frac{\sqrt{1+y^2}}{y^2} y dy = \int 0 dx$$

$$\int \frac{t \cdot t dt}{t^2 - 1} + \int \frac{z \cdot z dz}{z^2 - 1} = 0$$

$$\int \left(\frac{t^2 - 1 + 1}{t^2 - 1}\right) dt + \int \frac{z^2 - 1 + 1}{z^2 - 1} dz = e$$

$$\int \left(1 + \frac{1}{t^2 - 1}\right) dt + \int \left(1 + \frac{1}{z^2 - 1}\right) dz = c$$

$$t + \frac{1}{2} \ln \left(\frac{t-1}{t+1}\right) + z + \frac{1}{2} \ln \left(\frac{z-1}{z+1}\right) = c$$

$$\sqrt{1+x^2} + \frac{1}{2} \ln \left(\frac{\sqrt{1+x^2}-1}{\sqrt{1+x^2}+1}\right) + \sqrt{1+y^2} + \frac{1}{2}$$

$$\ln \left(\frac{\sqrt{1+y^2}-1}{\sqrt{1+y^2}+1}\right)$$



## (Exercise 9.3)

②

### Question ①

$$(x-y)dx + (x+y)dy = 0$$

$$(x+y)dy = -(x-y)dx$$

$$\frac{dy}{dx} = \frac{y-x}{x+y} \quad \text{--- ①}$$

$$\text{put } y = vx \quad \text{--- ②}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- ③}$$

$$v + x \frac{dv}{dx} = \frac{vx-x}{x+vx}$$

$$x \frac{dv}{dx} = \frac{x(v-1)}{x(1+v)} - v$$
$$= \frac{x-1-x-v^2}{1+v}$$

$$x \frac{dv}{dx} = -\frac{(v^2+1)}{1+v}$$

$$\int \frac{v+1}{v^2+1} dv = -\int \frac{dx}{x}$$

$$\frac{1}{2} \int \frac{2vdv}{v^2+1} + \int \frac{dv}{v^2+1} = -\int \frac{dx}{x}$$

$$\frac{1}{2} \ln(v^2+1) + \tan^{-1}v = -\ln x + c$$

$$\ln(v^2+1)^{1/2} + \tan^{-1}v + \ln x = c$$

$$\ln \sqrt{\frac{y^2}{x^2} + 1} + \tan^{-1}\left(\frac{y}{x}\right) + \ln x = c$$

$$\ln x \sqrt{y^2 + x^2} - \ln x \sqrt{x^2} + \tan^{-1}\left(\frac{y}{x}\right) + \ln x = c$$

$$\ln \sqrt{y^2 + x^2} + \tan^{-1}\left(\frac{y}{x}\right) = c$$

### Question ②

$$(y^2 + 2xy)dx + x^2 dy = 0$$

$$x^2 dy = -(y^2 + 2xy)dx$$

$$\frac{dy}{dx} = -\frac{(y^2 + 2xy)}{x^2}$$

$$\text{put } y = vx$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

using (ii) & (iii) in (i)

$$v + x \frac{dv}{dx} = - \frac{(v^2 - x^2 + 2xvx)}{x^2}$$

$$x \frac{dv}{dx} = - \frac{v^2 + 2xv - x^2}{x^2}$$

$$x \frac{dv}{dx} = -v^2 + 3v$$

$$\int \frac{dv}{v^2 + 3v} = - \int \frac{dx}{x}$$

$$\int \frac{1}{v(v+3)} dv = - \int \frac{dx}{x}$$

$$\frac{1}{3} \ln|x|v - \frac{1}{3} \ln|x+3| = -\ln|x| + \ln|c|$$

$$\ln \left[ \frac{v^{1/3}}{(v+3)^{1/3}} \right] = \ln \frac{c}{x}$$

$$\frac{v^{1/3}}{(v+3)^{1/3}} = \frac{c}{x}$$

$$x \cdot v^{1/3} = c (v+3)^{1/3}$$

$$x \left( \frac{y}{x} \right)^{1/3} = c \left( \frac{y}{x} + 3 \right)^{1/3}$$

$$x \left( \frac{y^{1/3}}{x^{1/3}} \right) = c (y+3x)^{1/3}$$

$$x y^{1/3} = c (y+3x)^{1/3}$$

$$x^3 y = c (y+3x)$$



### Question (3)

$$(x^2 - 3y^2) dx + 2xy dy = 0$$

$$2xy dy = -(x^2 - 3y^2) dx$$

$$\frac{dy}{dx} = \frac{3y^2 - x^2}{2xy} \quad \text{--- (i)}$$

$$\text{put } y = vx \quad \text{--- (ii)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

using (ii) of (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{3v^2 x^2 - x^2}{2xvx}$$

$$x \frac{dv}{dx} = \frac{(3v^2 - 1)x^2}{2vx^2} - v$$

$$x \frac{dv}{dx} = \frac{v^2 - 1}{2v}$$

$$\int \frac{2v dv}{v^2 - 1} = \int \frac{dx}{x}$$

$$\ln(v^2 - 1) = \ln x + \ln c$$

$$\ln\left(\frac{y^2}{x^2} - 1\right) = \ln cx$$

$$\frac{y^2 - x^2}{x^2} = cx$$

$$y^2 - x^2 = (cx) x^2$$

### Question (4)

$$(x^2 + 3y^2) dx - 2xy dy = 0$$

$$(x^2 + 3y^2) dx = 2xy dy$$

$$\frac{x^2 + 3y^2}{2xy} = \frac{dy}{dx} \quad \text{--- (i)}$$

$$\text{put } y = vx \quad \text{--- (ii)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$



using (ii) (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{x^2 + 3v^2 x^2}{2xvx}$$

$$x \frac{dv}{dx} = x^2 \frac{(1+3v^2) - v}{x^2 2v}$$

$$x \frac{dv}{dx} = \frac{1+3v^2-2v^2}{2v}$$

$$2 \frac{dv}{dx} = \frac{1+v^2}{2v}$$

$$\int \frac{2v}{1+v^2} dv = \int \frac{dx}{x}$$

$$\ln(1+v^2) = \ln x + \ln c$$

$$\ln(1+v^2) = \ln cx$$

$$\left(1 + \frac{y^2}{x^2}\right) = cx$$

$$\frac{x^2 + y^2}{x^2} = cx$$

$$x^2 + y^2 = (cx)x^2$$

Question (5)

$$(x^2 + xy + y^2) dx - x^2 dy = 0$$

$$(x^2 + xy + y^2) dx = x^2 dy$$

$$\frac{dy}{dx} = \frac{x^2 + xy + y^2}{x^2} \quad \text{--- (i)}$$

$$\text{Put } y = vx \quad \text{--- (ii)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

using (ii) (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{x^2 + x(vx) + v^2 x^2}{x^2}$$

$$x \frac{dv}{dx} = \frac{(1+v+v^2)x^2 - v}{x^2}$$

$$\int \frac{dv}{1+v^2} = \int \frac{dx}{x}$$

$$\tan^{-1} v = \ln x + C$$

$$\tan^{-1} \left( \frac{y}{x} \right) = \ln x + C$$

### Question 6

$$(x^2 + 3xy + y^2)dx - x^2 dy = 0$$

$$(x^2 + 3xy + y^2)dx = x^2 dy$$

$$\frac{dy}{dx} = \frac{x^2 + 3xy + y^2}{x^2} \quad \text{--- (i)}$$

Put  $y = vx$  --- (ii)

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

$$v + x \frac{dv}{dx} = \frac{x^2 + 3x(vx) + v^2 x^2}{x^2}$$

$$x \frac{dv}{dx} = x^2 \left( \frac{1 + 3v + v^2}{x^2} \right) - v$$

$$x \frac{dv}{dx} = 1 + 2v + v^2$$

$$\int \frac{dv}{(1+v)^2} = \int \frac{dx}{x}$$

$$\left( \frac{1}{v+1} \right) = \ln x + C$$

$$\left( \frac{-1/y + 1}{x} \right) = \ln x + C$$

$$\frac{1}{y+x} = \ln x + C$$

$$\frac{-x}{(x+y)} = \ln x + C$$



### Question ⑦

$$\frac{dy}{dx} = \frac{4y - 3x}{2x - y} \quad \text{--- (i)}$$

Put  $y = vx$  --- (ii)

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

using (ii) (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{4vx - 3x}{2x - vx}$$

$$x \frac{dv}{dx} = \frac{x(4v - 3)}{x(2 - v)} - v$$

$$x \frac{dv}{dx} = \frac{4v - 3 - 2v + v^2}{2 - v}$$

$$\int \frac{2 - v}{v^2 + 2v - 3} dv = \int \frac{dx}{x} \quad \text{---}$$

$$\frac{2 - v}{(v+3)(v-1)} = \frac{A}{v+3} + \frac{B}{v-1}$$

$$2 - v = A(v-1) + B(v+3)$$

Put  $v+3=0 \Rightarrow -5 = -4A \Rightarrow A = \frac{-5}{4}$

Put  $v-1=0 \Rightarrow 1 = 4B \Rightarrow B = \frac{1}{4}$

$$\frac{2 - v}{(v+3)(v-1)} = \frac{-5}{4(v+3)} + \frac{1}{4(v-1)}$$

$$-\frac{5}{4} \int \frac{dv}{v+3} + \frac{1}{4} \int \frac{dv}{v-1} = \int \frac{dx}{x}$$

$$-\frac{5}{4} \ln(v+3) + \frac{1}{4} \ln(v-1) = \ln x + \ln c$$

$$-\ln(v+3)^5 + \ln(v-1) = 4 \ln x$$

$$\ln \frac{v-1}{(v+3)^5} = \ln c^4 x^4$$

Antilog  $\left(\frac{y/x - 1}{(y/x + 3)^5}\right)^5 = c^4 x^4$

$$\frac{(y-x)^5}{x^5 (y+3x)^5} = c^4$$

$$\frac{y-x}{(y+3x)^5} = c'$$



### Question ⑧

$$x \sin\left(\frac{y}{x}\right) dy = (y \sin \frac{y}{x} - x) dx$$

$$\frac{dy}{dx} = \frac{y \sin \frac{y}{x} - x}{x \sin\left(\frac{y}{x}\right)} \quad \text{--- (i)}$$

put

$$y = vx \quad \text{--- (ii)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

using (ii) (iii) in (i)

$$v + x \frac{dv}{dx} = \frac{vx \sin \frac{vx}{x} - x}{x \sin\left(\frac{vx}{x}\right)}$$

$$x \frac{dv}{dx} = \frac{vx \sin v - x}{x \sin v} \quad \text{--- (iv)}$$

$$x \frac{dv}{dx} = \frac{v \sin v - 1}{\sin v}$$

$$\int \sin v dv = \int -\frac{dx}{x}$$

$$-\cos v = -\ln x + C$$

$$\cos v = \ln x + C$$

$$\cos \frac{y}{x} = \ln x + C$$



## Non Homogeneous Equation

$$\textcircled{1} \quad \frac{dy}{dx} = \frac{x+3y-5}{x-y-1}$$

$$\text{Put } x = x+h$$

$$\frac{dy}{dx} = \frac{dy}{dx}$$

$$\frac{dy}{dx} = \frac{x+h+3(y+k)-5}{x+h-(y+k)-1}$$

$$\frac{dy}{dx} = \frac{x+3y}{x-y}$$

$$\text{Put } y = vx$$

$$\frac{dy}{dx} = v+x \frac{dv}{dx}$$

$$v+x \frac{dv}{dx} = \frac{x+3vx}{x-vx}$$

$$x \frac{dv}{dx} = \frac{x(1+3v)}{x(1-v)}$$

$$x \frac{dv}{dx} = \frac{(1+v)^2}{1-v}$$

$$\int \frac{1-v}{(1-v)^2} dv = \int \frac{dx}{x}$$

$$\int \frac{1 dv}{(1+v)^2} - \int \frac{v dv}{(1+v)^2} = \int \frac{dx}{x}$$



$$(2) \quad \frac{dy}{dx} = \frac{-(4x+3y+15)}{2x+y+7}$$

$$\text{put } x = x+h$$

$$y = y+k$$

$$\frac{dy}{dx} = \frac{-(4x+4h+3y+3k+15)}{2x+2h+y+k+7}$$

$$\frac{dy}{dx} = \frac{-4x-3y}{2x+y} \quad \text{--- (i)}$$

$$\text{put } y = vx \quad \text{--- (ii)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

using (i) (ii) in (iii)

$$v + x \frac{dv}{dx} = \frac{-4x-3vx}{2x+vx}$$

$$x \frac{dv}{dx} = \frac{-x(4+3v)-v}{x(2+v)}$$

$$= \frac{-4-3v-2v-v^2}{2+v}$$

$$x \frac{dv}{dx} = -\frac{(v^2+5v+4)}{2+v}$$

$$\int \frac{(v+2) dv}{v^2+5v+4} = -\int \frac{dx}{x}$$

$$\frac{1}{3} \int \frac{dv}{v+1} + \frac{2}{3} \int \frac{dv}{v+4} = -\int \frac{dx}{x}$$

$$\frac{1}{3} \ln(v+1) + \frac{2}{3} \ln(v+4) = -\ln x + \ln c$$

$$\textcircled{3} (3y-7x-3)dx + (7y-3x-7)dy = 0$$

$$(7y-3x-7)dy = -(3y-7x-3)dx$$

$$\frac{dy}{dx} = \frac{-3y+7x+3}{7y-3x-7}$$

$$\left. \begin{array}{l} \text{Put } x = x+h \\ y = y+k \end{array} \right\} = \frac{dy}{dx} = \frac{dy}{dx}$$

$$\therefore \frac{dy}{dx} = \frac{-3(y+k)+7(x+h)+3}{7(y+k)-3(x+h)-7}$$

$$\frac{dy}{dx} = \frac{-3y+7x}{7y-3x} \quad \textcircled{i}$$

$$\text{put } y = vx \quad \textcircled{ii}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \textcircled{iii}$$

using  $\textcircled{ii}$   $\textcircled{iii}$  in  $\textcircled{i}$

$$v + x \frac{dv}{dx} = \frac{-3vx+7x}{7vx-3x}$$

$$x \frac{dv}{dx} = \frac{x(-3v+7)}{x(7v-3)} - v$$

$$x \frac{dv}{dx} = \frac{-3v+7-7v^2+3v}{7v-3}$$

$$\int \frac{7v-3}{7(1-v^2)} dv = \int \frac{dx}{x}$$

$$\frac{2}{7} \int \frac{dv}{1-v} - \frac{5}{7} \int \frac{dv}{1+v} = \int \frac{dx}{x}$$

$$-\frac{2}{7} \ln|x(1-v)| - \frac{5}{7} \ln|x(1+v)| = \ln|x| + \ln|x|$$

$$\frac{1}{7} \ln|x| \left[ (1-\frac{y}{x})^{-2} (1+\frac{y}{x})^{-5} \right] = 7 \ln|x|$$

$$\ln \left[ \left( \frac{x-y}{x} \right)^{-2} \left( \frac{x+y}{x} \right)^{-5} \right] = \ln c^7 x^7$$

$$(4) \quad \frac{x-2y+5}{2x+y-1}$$

$$\text{put } x = x+h$$

$$y = y+k$$

$$\therefore \frac{dy}{dx} = \frac{x+h-2y-2k+5}{2x+2h+y+k-1}$$

$$\frac{dy}{dx} = \frac{x-2y}{2x+y} \quad \text{--- (i)}$$

$$\text{put } y = vx \quad \text{--- (ii)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (ii)}$$

$$v + x \frac{dv}{dx} = \frac{x-2vx}{2x+vx}$$

$$x \frac{dv}{dx} = \frac{x(x-2v)}{x(2+v)} - v$$

$$\frac{x dv}{dx} = \frac{1-2v-2v-v^2}{2+v}$$

$$\int \frac{2+v}{1-4v-v^2} dv = - \int \frac{dx}{x}$$

$$\frac{1}{2} (\ln(v^2+4v-1)) = -\ln x + \ln c$$

$$\ln \sqrt{v^2+4v-1} = \ln \frac{c}{x}$$



$$5 \quad \frac{dy}{dx} = \frac{3x-4y-2}{3x-4y-3}$$

$$\text{Put } 3x-4y = z \quad \text{--- (i)}$$

$$3-4 \frac{dy}{dx} = \frac{dz}{dx}$$

$$3 - \frac{dz}{dx} = 4 \frac{dy}{dx}$$

$$\frac{1}{4} \left( 3 - \frac{dz}{dx} \right) = \frac{dy}{dx} \quad \text{--- (ii)}$$

using (i) (ii) in (i)

$$\frac{1}{4} \left( 3 - \frac{dz}{dx} \right) = \frac{z-2}{z-3}$$

$$3 - \frac{dz}{dx} = \frac{4z-8}{z-3}$$

$$\frac{3-(4z-8)}{z-3} = \frac{dz}{dx}$$

$$\frac{3z-9-4z+8}{z-3} = \frac{dz}{dx}$$

$$\frac{-(1+z)}{z-3} = \frac{dz}{dx}$$

$$-dx = \frac{z-3}{1+z} dz$$

$$\frac{z-3-1+1}{1+z} = -dz$$

---

$$(6) \quad \frac{dy}{dx} = \frac{y-x+1}{y-x+5} \quad \text{--- (i)}$$

$$\text{Put } y-x = z \quad \text{--- (ii)}$$

$$\frac{dy}{dx} - 1 = \frac{dz}{dx}$$

$$\frac{dy}{dx} = 1 + \frac{dz}{dx} \quad \text{--- (iii)}$$

using (ii) + (iii) in (i)

$$1 + \frac{dz}{dx} = \frac{z+1}{z+5}$$

$$\frac{dz}{dx} = \frac{z+1}{z+5} - 1$$

$$= \frac{z+1-z-5}{z+5}$$

$$\frac{dz}{dx} = \frac{-4}{z+5}$$

$$\int (z+5) dz = -4 \int \frac{1}{z+5} dx$$

$$\frac{z^2}{2} + 5z = -4x + C$$

$$\frac{z^2 + 10z}{2} = -4x + C$$

$$z^2 + 10z = -8x + 2C$$

$$(y-x)^2 + 10(y-x) = -8x + C'$$

---

## Exact Equation

$$(3x^2 + 4xy) dx + (2x^2 + 2y) dy = 0$$

$$M = 3x^2 + 4xy, \quad N = 2x^2 + 2y$$

$$\frac{\partial M}{\partial y} = 0 + 4x \quad \frac{\partial N}{\partial x} = 4x + 0$$

$$\therefore \frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

Now  $\int M dx + \int (\text{terms of } N \text{ from } x) dy = c$

$$\int (3x^2 + 4xy) dx + \int 2y dy = c$$

$$3 \frac{x^3}{3} + \frac{4x^2y}{2} + \frac{2y^2}{2} = c$$

$$x^3 + 2x^2y + y^2 = c$$



## Question ②

$$(2xy + y - \tan y) dx + (x^2 - x \tan y + \sec^2 y) dy = 0$$

$$M = 2xy + y - \tan y, \quad N = x^2 - x \tan y + \sec^2 y$$

$$\frac{\partial M}{\partial y} = 2x + 1 - \sec^2 y, \quad \frac{\partial N}{\partial x} = 2x - \tan y + 0$$
$$= 2x - \tan y$$

$$\therefore \frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$\int M dx + \int (\text{terms of } N \text{ from } x) dy = c$

$$\int (2xy + y - \tan y) dx + \int \sec^2 y dy = c$$

$$\frac{2x^2y}{2} + xy - x \tan y + \tan y = c$$

$$x^2y + xy - x \tan y + \tan y = c$$

### Question (3)

$$\left(\frac{x+y}{y-1}\right) dx - \frac{1}{2} \left(\frac{x+1}{y-1}\right)^2 dy = 0$$

$$M = \frac{x+y}{y-1} \quad N = -\frac{1}{2} \left(\frac{x+1}{y-1}\right)^2$$

$$\frac{\partial M}{\partial y} = \frac{(y-1)(0+1) - (x+y)(1)}{(y-1)^2} \quad N = -\frac{1}{2} \frac{(x^2+2x+1)}{(y-1)^2}$$

$$= \frac{y-1-x-y}{(y-1)^2} = \frac{-x-1}{(y-1)^2}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \therefore \text{given by } \dots$$

$\int M dx + \int (\text{terms of } N \text{ free from } x) dy = c$

$$\int M dx + \int \left(\frac{x+y}{y-1}\right) dx + \int -\frac{1}{2} \frac{dy}{(y-1)^2} = c$$

$$\left(\frac{1}{y-1}\right) \int (x+y) dx + \frac{1}{2} \int (y-1) dy = c$$

$$\frac{1}{(y-1)} \left(\frac{x^2}{2} + xy\right) + \left(-\frac{1}{2}\right) \left(\frac{1}{y-1}\right) = c$$

$$\frac{x^2 + 2xy}{2(y-1)} + \frac{1}{2(y-1)} = c$$

$$x^2 + 2xy + 1 = c'(y-1)^2$$

### Question (4)

$$\frac{dy}{dx} = -\frac{(ax+by)}{hx+by}$$

$$(hx+by) dy = -(ax+by) dx$$

$$(ax+by) dx + (hx+by) dy = 0$$

$$M = ax+by \quad N = hx+by$$

$$\frac{\partial M}{\partial y} = 0+h \quad \frac{\partial N}{\partial x} = h$$

$$\therefore \frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$\int M dx + \int (\text{terms of } N)$

$$\int (ax+by) dx + \int by dy = c$$

$$a \frac{x^2}{2} + bxy + \frac{by^2}{2} = c$$

$$ax^2 + 2bxy + by^2 = c$$

Question (5)

$$(1 + \ln xy) dx + \left(1 + \frac{x}{y}\right) dy = 0$$

$$M = 1 + \ln xy \quad N = 1 + \frac{x}{y}$$

$$\frac{\partial M}{\partial y} = 0 + \frac{1}{xy} \cdot x \quad \frac{\partial N}{\partial x} = 0 + \frac{1}{y}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int M dx + \int (\text{terms of } N \text{ force from } x) dy = c$$

$$\int (1 + \ln xy) dx + \int 1 \cdot dy = c$$

$$\int dx + \int 1 \cdot \ln xy dx + \int dy = c$$

$$x + \int \ln xy \cdot (x) - \int \frac{1}{xy} \cdot y \cdot x dx + y = c$$

$$x + x \ln xy - \int dx + y = c$$

$$x + x \ln xy - x + y = c$$

$$x \ln xy + y = c$$

### Question 6

$$\frac{y dx + x dy}{1-x^2y^2} + x dx = 0$$

$$\frac{y dx}{1-x^2y^2} + \frac{x dy}{1-x^2y^2} + x dx = 0$$

$$\left( \frac{x+y}{1-x^2y^2} \right) dx + \frac{x dy}{1-x^2y^2} = 0$$

$$M = \frac{x+y}{1-x^2y^2}$$

$$\frac{\partial M}{\partial y} = \frac{0 + (1-x^2y^2) \cdot (-y(-2x^2y))}{(1-x^2y^2)^2}$$

$$= \frac{1-x^2y^2 + 2x^2y^2}{(1-x^2y^2)^2} = \frac{1+x^2y^2}{1-x^2y^2}$$

$$N = \frac{x}{1-x^2y^2}$$

$$\frac{\partial N}{\partial x} = \frac{(1-x^2y^2) \cdot (-x(-2xy^2))}{(1-x^2y^2)^2}$$

$$\therefore \frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int M dx + \int (\text{terms of } N \text{ w.r.t } x) dy = C$$

$$\int \left( x + \frac{y}{1-x^2y^2} \right) dx + Nil = C$$

$$\int x dx + \int \frac{y dx}{1-x^2y^2} = C$$

$$\frac{x^2}{2} + \int \frac{y dx}{\frac{1-x^2y^2}{y^2}} dx = C$$

$$\frac{x^2}{2} + \frac{1}{y} \int \frac{dx}{\left(\frac{1}{y}\right)^2 - x^2} = C$$

$$\frac{x^2}{2} + \frac{1}{y} \left[ \frac{1}{2} \left(\frac{1}{y}\right) \ln \left| \frac{\frac{1}{y} + x}{\frac{1}{y} - x} \right| \right] = C$$

$$\frac{x^2}{2} + \frac{1}{2} \ln \left| \frac{1+x+y}{1-xy} \right| = C$$

$$x^2 + \ln \left| \frac{1+xy}{1-xy} \right| = C$$

Question ⑦

$$(6xy + 2y^2 - 5) dx + (3x^2 + 4xy - 6) dy = 0$$

$$M = 6xy + 2y^2 - 5, \quad N = 3x^2 + 4xy - 6$$

$$\frac{\partial M}{\partial y} = 6x + 4y$$

$$\frac{\partial N}{\partial x} = 6x + 4y$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \text{Hence Exact. Difficult}$$

$$\int M dx + \int (\text{terms of } N \dots x) dy = c$$

$$\int (6xy + 2y^2 - 5) dx + \int -6 dy = c$$

$$\frac{6x^2y}{2} + 2xy^2 - 5x - 6y = c$$

$$3x^2y + 2xy^2 - 5x - 6y = c$$

Question ⑧

$$(y \sec^2 x + \sec x \tan x) dx + (\tan x + 2y) dy = 0$$

$$M = y \sec^2 x + \sec x \tan x, \quad N = \tan x + 2y$$

$$\frac{\partial M}{\partial y} = \sec^2 x, \quad \frac{\partial N}{\partial x} = \sec^2 x$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int M dx + \int (\text{terms of } N \dots x) dy = c$$

$$\int (y \sec^2 x + \sec x \tan x) dx + \int 2y dy = c$$

$$y \tan x + \sec x + y^2 = c$$



## (Exercise 9.5)

### NON Exact Equation

$$(xy^2 + y) dx - x dy = 0 \quad \text{--- (1)}$$

$$M = xy^2 + y \quad N = -x$$

$$M_y = 2xy + 1 \quad N_x = -1$$

$\therefore M_y \neq N_x \quad \therefore$  Non Exact

$$\frac{M_y - N_x}{N} = \frac{2xy + 1 + 1}{-x}$$

$$\frac{N_x - M_y}{M} = \frac{-1 - 2xy - 1}{xy^2 + y}$$

$$= \frac{-2(1 + xy)}{y(xy + 1)} = -\frac{2}{y}$$

$$-\int \frac{2}{y} dy = -2 \ln y$$

$$\frac{1}{y} (xy^2 + y) dx - \frac{x}{y^2} dy = 0$$

$$\left(x + \frac{1}{y}\right) dx - \frac{x}{y^2} dy = 0 \quad \text{--- (1)}$$

$$\text{Now } M = x + \frac{1}{y} \quad N = -\frac{x}{y^2}$$

$$M_y = -\frac{1}{y^2} \quad N_x = -\frac{1}{y^2}$$

$\therefore M_y = N_x$

$$\int M dx + \int (\text{term of } N \dots)$$

$$\int \left(x + \frac{1}{y}\right) dx + N \int \frac{1}{y} dy = c$$

$$\frac{x^2}{2} + \frac{x}{y} = c$$



## Question ②

$$(x^2 + x - y) dx + x dy = 0 \quad \text{--- (i)}$$

$$M = x^2 + x - y \quad N = x$$

$$M_y = -1 \quad N_x = 1$$

$M_y \neq N_x \quad \therefore$  Non Exact

$$\frac{M_y - N_x}{N} = \frac{-1 - 1}{x} = -\frac{2}{x}$$

$$\int -\frac{2}{x} dx = -2 \ln x = \ln x^{-2}$$

Multiply both sides of Equation (i)

$$\frac{1}{x^2} (x^2 + x - y) dx + \frac{x}{x^2} dy = 0$$

$$\left(1 + \frac{1}{x} - \frac{y}{x^2}\right) dx + \frac{1}{x} dy = 0 \quad \text{--- (ii)}$$

$$\text{Now } M = 1 + \frac{1}{x} - \frac{y}{x^2} \quad N = \frac{1}{x}$$

$$M_y = -\frac{1}{x^2} \quad N_x = -\frac{1}{x^2}$$

$$M_y = N_x$$

So

$$\int M dx + \int (\text{Terms of } N \text{ --- } x) dy = C$$

$$\int \left(1 + \frac{1}{x} - \frac{y}{x^2}\right) dx + N dx = C$$

$$x + \ln x + \frac{y}{x} = C$$